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SCHOOL BOOK SOURCE
Class Term
Simple Interest 7 OLD 3 2.5
7 NEW 3 24,25

Interest which is calculated uniformly on the original principal throughout the loan period
is called Simple Interest.

PNR

i.  Simple interest: | =
100

P = Principal

= period
R = Rate of interest
ii. Amount: A=P+1

SL6T &MV (PUpeugild SLemul OCamGdaliu’ L oFeded FHTUI SeodbSLUIUGL  aully  Hel
QUL IQUITGLD.
PNR

1. sl eullg | = 100
P = o560
N = smeold
R=aily aiswd

ii. Qorshs GeTems A=P + |

1. A sum of Rs. 800 is lent for one year at the rate of 18% per annum. Find the simple
interest.
ah. 800 eigID QOFTemd @B QUBL  HTVSIHBG 18% WG  euliguied  BLeuIul
QUPRISLILGHGBH. STl 19dh CHTMHMUI HTEHISH.

2. A sum of Rs. 46000 was lent out a simple interest at the rate of 18% per year. Find the
interest at the end of 1 year and 9 months.
.46,000 eIID QFHTNS @ITewIYBEG 18% eilaid Sl auliguiled HL MUl GUDBISLILIGH EBBS.
1 su@pLld 9 THEIB6T @BIFHUTID QUHBHSGL I 1YSHOHTEDHEMUI HTCHIH.
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10.

11.

12.

13.

Find the simple interest on Rs. 1000 for 6 months at the rate of 5 paise per rupee per
month.

QH WISHHBS @ UTLISEG 5 usT 6@ib eallly aldsshdled h. 1000, 6 WLTHHH60
CaETBEGD Hll QI 19HOHTNHEMUI  HT6ISH.

Find the simple interest when principal is Rs. 12000, rate of interest is 18% per annum
and time is 4 months.

18% oW eaully aiesHdHed b 12,000, 4 WWIGSHH0 OBTHHGWL HN QL IgHOSHTHHMW
EBIT6U01Eb.

Find the simple interest when principal is Rs. 1000, rate of interest is 10% per annum and
time is 73 days.

10% ouewi eully einsHdHed p. 1000, 73 BT &6l CBTHHGL SN U 19H0HTMBHEML
BTN,

Find the simple interest when principal is Rs. 500, rate of interest is 12.5% and time 4
years.
12.5% etenid aul'lg aighsHde0ep.500,4 aubLES6Ne0 OBTHEGL Sl QUL ISHEHTEDHMU SHTENTSH.

Kumar has paid simple interest on a certain sum for 2 years at 10% per annum is Rs. 750.
Find the sum.

GTT Qh COpTmddhd 10% LB aIllguled 2 aILEBIGEHSE CFasbHL Healel 195H0HTmes
h.750 DIHOHTENHENU! HTEWIS.

If interest on Rs. X for 2 years at R% per annum is Rs. 80, then find the interest on Rs. 2x
for one year at R% per annum.

X, R % e euliguiled 2 eu@pLmisened GOamha@G aully h. 80 eefed eh.2X R% uewi®
QUL 1puled @(h GUBLSHSH D OBTHHGSGD L 19H0HTmHMUIS HT6IH

Find the interest on Rs. 1460 at 10% from 5t Feb, 1992 to 25t April 1992.
oh. 1460 &, 10% eipdHed 5 ogeufl 1992 edmpBE 25 glged 1992 euedy 2 eiren
HTVHH MBI QUL 19HOHTENHEMUISH  SHIT6U01H.

Kumar borrowed Rs. 400 from his friend at the rate of 12% per annum for 2 2 years.
Find the interest and amount paid by him.

GWIT 400 enwl et BN OBHS 2 Y2 aupLBISEhHES 12% SLewiB Ul gulled &L eyl
CUDIF BT, ST CFNISHHW L 19SH0HTmHMWLD OLOTHSH CHTEMHMUIUID SHTEIS.

Find the difference between the interest obtained for Rs. 1000 at 12% per annum for 3
years and that for Rs. 1500 at 8% per annum for 1 %2 years.

.1000, 12% ouewih e’y aieHHe0 3 auBLBEISNN CBTHEHEGD Ul 19H0BTmHHGWD h. 1500,
8% o eully eisdHHed 1 2 aupLmBellsd OBTHEGL UL RSHOHTMBHGD o _6iTen
ASHHWLTFID HTevIb:

What principal will amount to Rs. 900 in 6 years at 10% simple interest?
b iFeTaIm 10% Salai iguied 6 aupLmiGeled ap. 900 b o WIHLD.

A principal becomes Rs. 10050 at the rate of 10% in 5 years. Find the principal.
Qm SFTag 10% aispdHed 5 auBLBIBaN 05.10,050 SLEGTBSH. DFM6VEH BT,
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14.

15.

16.

17.

18.

19.

20.

21.

22.

Kumar deposited Rs. 20000 in a financial institution on 28t March 2000 and closes his
account on 21st August 2000. If the constitution pays an interest of 9% per annum, what
amount does Kumar get?

Gt @M B HoeuaisHeo 28 writd 2000 S 520,000  eeul] HHWTH
CFaISH S GTTIT. LBoID 21 sHevl. 2000 B HABH  HWIHMS  (LPIYHB T,
SIHHBIIID eihEG 9% 6l aullp IPRIFITE GWTT QUEBID CHTEHMUI HTENISH?

A man borrowed Rs. 16000 from two persons. He paid 6% interest to one and 10% per
annum to the other. In one year he paid total interest Rs. 1120. How much did he borrow
at each rate?

QM wWwelHear BFewih BUTHNLLOBHS hH.16000 Wl SLeIML CUBIFGDBIT. DeUT QHOUHDES
6% BOBTHAUMBSESEH 10% eeid WG eI iguied eully CFISHHFGBIT. @MH UBLHHBES
ot  OCFusHWL  QIHs el ksHosTens . 1120, @abaur®m el aissHHed  SleuT
CUBBSHOSTMHEMUIS SIS ?

Find the amount on Rs. 25000 at 8% per annum for 6 years under simple interest.
. 25000 el euliguled 6 euBLEHeNe0 8% e  auliguisd CETBHGWL  CoTHs
CPHTMHEMUIS  SHT60TH:

A sum when reckoned simple interest at 3 72 % per annum amounts to Rs. 364.80 after 4
years. Find the sum.

Qm OTans 32 % e Sl el guied @eusd LLGD QUTIal 4 aurpLBisefled p. 364.80
SE 2 WTHOBGH. DISHOSHTNBMUI HT6EwISH ?

Rs. 12000 is lent out in three parts. The first part is lent at 4% per annum for 5 years, the
second at 5% for 3years and the third at 3% for 4 years. The total interest earned on each
part are equal. Find the sum in each part.

. 12000 cpeSiml LGS SeNTUl SLIMUI IPRISLILGHSBSEH. (PH0 UGH 4% Spewi®  auliguiled
5 QUBLEIBEHHGD, BIWILTD UGdH 5% 3 eUBLESEHHGD BBID cpSIBTDd uGdH 3% 4
QUBLBISEHHGLD SLAMUL aupRSILGH LS. @albeuTaieid GuBB 6CLTsHs eI sHoHTems
g elemev, ealGleuT(H LGHUleT OHTenHenUl HT6wTs?

A farmer borrowed Rs. 2400 at 12% interest per annum. At the end of 2 2 years, he
cleared his account by paying Rs. 1200 and a cow. Find the cost of cow.

@ aleugmul 12% opewi auiguied e5.2400mw SLemmul  QuudamT. 2 2 eumL Smiguied
ST @H.1200 Wb @ uFimaud OFTHSHSH S DL SHBTT. ugFialear alenevenuld
BHITEMIE.

Kumar borrowed Rs. 52000 from a money lender at a particular rate of simple interest.
After 4 years, he paid Rs. 79040 to settle his dept. At what rate of interest he borrowed
the money?

GWIT Q@ ULIYSHSMLSSTTRNLOBHH @ SHUILL S aully aihdHaHled 4 6U(HLBIGBEHHS
ah. 52000 Hewsd SLemul GUBIASBIT. ST @b 79040 W OCFISHH ST BLeneo
DML S PIT. 61h H QI lg aiHHHed SleuT HLewerll GUBMTT.?

Ram lent Rs. 1200 to Kumar for 5 years and Rs. 1500 to Mohan for 2 years and received

altogether Rs. 900 as interest. Find the rate per annum.

gmb  ¢5.1200 eww 5 GUBLMIGBEHHE GLT(HDHE SLEOMUI GUPRISITT BBID h. 1500w 2
QU(HLMIBEHDHES GCLTHILD SLEIMUI GUPHRIBIOITT. ST CUBB CTdHs Ll H6ETmE  0hH.900
WG ULl aiHD HTewrs?

Find the interest on Rs. 1200 at 6% per annum for 146 days.
6% LB eIl iguled h. 1200 &G 146 BT HEHEHEHTHN Ul 19d OFHTHHMUIS SIS,
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

A sum of money doubles itself in 8 years. What is the rate of interest?
Qm GPILILL CGaTms 8 aubLmESeled BT sHaBEH. ally iHh SHTes.

In how many years will be Rs. 750 amount to Rs. 900 at 4% per annum?
THHME AUBL BB H.750, 4% WG Ul iguied 5900 Db o UI(HLD.

In how many years will a certain sum becomes 3 times itself at 25% per annum under
simple interest.
B OHTMD IHHM UBLEH 25% ewih Hafl aully aiHsHded 3 OLBISTGLD.

In what time will Rs. 6000 amount to Rs. 7200 at 4% per annum?
THHMmen HTeVHH60 4% emiBh auliguied e5.6000, eh. 7200 Qb 2 WIHLD.

A borrowed Rs. 1500 at 4% per annum and Rs. 1400 at 5% per annum for the same
period. He paid Rs. 390 as total interest. Find the time for which he borrowed the
money.

A 4%eyem®  euliguiled 1500 ud 5% ouewih el iguled e.1400 ud @By  BHTVHIH MBS
sLemul CuBIFSBIT.  SeuT CFaSHul OTHs el HosTms (1H.390. 6bHFH HTVSHIHIBE
ST OFHTeNHBMET SHLTTUI GILIBMITT.

The interest on Rs. 2000 is less than the interest on Rs. 2500 at 5% by Rs. 50. Find the
time.

5% euliguied 5.2000 QEHTBHGW I 9HOHTMS ah. 2500 CBTHHSID eI 19HeHTnEMmW il
@h. 50 GHMWBEY. HTELSHENG EHT6M0I5b.

A certain sum of money amounts to Rs. 4720 in 3 years at 6% per annum simple interest.
In how many years will it amount to Rs. 5680 at the same rate of interest.

o GUILL OsTms 6% ouB Safa guied 3 aIBLEIHB6MNN 054720 ouE o WTESEmEI.
aHHMe aUHLMEIB6MND DIBFH aully aiHHHe0 H.5680 HLd o uihHD?

When a bank reduces the rate of interest from 5% to 4% per annum, Ram withdraw Rs.
500 from his account. If he now gets Rs. 35 less interest during one year, find how much
total money was there in Ram’s account initially?

R B el aishmd 5% OmHbE 4% DEWH I QUITE GMBSGD QUITIQS JTD Heaidl
ARIE HeTHSHel(HhHH H.500 Hmbu OuBHSGBIT. SBOUTH @H MIHLSHH6L 5.35 (GHMMmeUTen
aully OUDIPEDBITT. JID HWIHDHED (PHeled GLOTHIHLD eT6leueTe] LIGWID S(HHHa!?

Find the annual instalment will discharge a dept of Rs. 12900 due in 4 years at 5% per
annum Simple interest.
ahd QUBLTHAT SHouemewienwl OFishd 5% oL Hafl auliguilsd 4 eaubLBEIS6sd ¢h.12900

eIemIlD BLemenm alBHaillmT?

In how many years will a sum of money double itself at 5% rate of interest?
THBHMA UBLSHHO 5% ey aissHed @ COsTems S iglimEgLb?

. . 1 . .
At what rate of interest will a sum of money becomes 0 times in 5 years?

11
bd QY aIHHHe0 5 aumLEIS6ND @ CFHTmd ELDI_FEJ&BF[@LD?
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